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Ca: 8.5 mg/di (8.5-10.5)
P: 2 mg/dL (3.5-5)
AIK.P: 270 U/L (8.-180)
PTH: 300 ng/L (5-60)
25 vitamin D: 16 ng/mL (30-40)
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Ca= 8.4 mg/dL (8.5-10.3)

P=2 mg/dL (2.54.5)

ALK Phosphatase= 400 U/L (Normal= 30-120 U/L)
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Triglyceride= 160 mg/dl
LDL= 190 mg/dli
HDL= 32 mg/dl
TSH= 2mU/L (NL 0.4-5)
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Hb= 13 gr/dl
Ca= 8 mg/d (8.6-10.2)
P= 2 mg/dl (2.5-4.5)
AlkP= 380 IU (100-290)
Cr= 1 mg/dl
TSH= 1uU/ml (0.3-3)
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Phosphorus= 5 mgldL
Creatinine = 1 mg/dL
TSH= 5 pu/mL (NL: 0.4-5)
PTH= 16 Pg/mL (NL: 10-50)
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Spine: T-Score = -2.6, Z-Score = -1.2

Hip: T-Score = -1.4, Z-Score = -0.9
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